8. Equation of a Straight Line NOTES.notebook

Starter -~

1) Change the subject to T: 4-3m=2T

:2-%‘”’
2)Ifk = 2 and j = -3, evaluate 2k? -
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3) Solve the equation forx: 3x-9=1-2x
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Plot these graphs using a table of values: \ﬁ: 7’(—[1} (t‘ 2
Ny=2¢+1 x|=2| -l o1 |2
y |5
2)y=3x-4 x|5l0|1
y (] |~%|~]
3)y=-2x+2

May 23, 2017

Today's Learning:

To know the general equation of a straight line and identify
the equation of a straight line from its graph.

Isks11#F

The general equation of any straight line isy = mx+ ¢

Equation of a Straight Line

where m is the gradient and c-is-the-y-intercept.

e.g. 1) State the gradient and y-intercept of the line with
y'adiu\\' =2
\0-.'01'. ’ '3

equationy = 2x -3

2) Sketch the graphy = -x + 4 )
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Starter

1) Calculate 2. %

22 3w _ 2
2) WriteDin complQed square fo? 29°-12g + 8
2 +q-)
3
2(193)-5)

3) Calculate 5m3 x2m-’
=9(a-3) - 10
oM 209 )

4) Fully factorise 3f + 3f2 - 3 )
3+ f-2) K

:3(‘((31\({-\ ) ) ?2#36 ,fs? :

Challenge: ‘ﬁ: mX(¢ "‘C

State the gradient and y-intercept of the line with equation
2y + 3 = 4x

- bx=
I
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Today's Learning:

To rearrange the equation of a straight line to find the
gradient and y-intercept.

Starter - NO Calculators

1) If the numbers 1 to 20 are on cards, and a card is picked
out at random, what is the probability it is a prime number?

2) Estimate the answerto  -1.9 x 385

3) Find the product of 41 and 18 then subtract 357.

4) What is £58 with 10% off?
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Rearranging the Equation of a Straight Line
W ke
eg. )2y =6x-1
= 3 X = 0'5
D Q"d = 3 \O’;nt= -O‘S
2)y-4x+5=0

@ (@ tad = b
_l‘,x-l-ﬁ:“‘\') 3’“*:-5

-!J:-lpa-s ‘3
9= 4x-9

3) 0 = 5y +4x -1
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Challenge: '3—".91* ¢
Find the equation of the straight#ne that passes
through the points (-2, 6) ande, ) !31_”'

Tadiwt kg3

(-2,6) ;
\\)(3\,1) 'Jg'-':_-‘l)
- .:—i ==\

=mx+¢
|=-|(3)+C
,=-3 + C

@ ©
k- c

VJ= -lc+ b
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State the gradient and y-intercept of the following straight
lines:

Ny=x+3 2)y+x=6 3)2y=x-4
Mm=1¢=3 me~l ¢ wm=Hh c=-1
H3y=x+12 53x-2y=12 6)y=-4x £ 0
4 =
m= 3 =l n-z' c=-b wma-L €=

7)5y=3x-10 8)3x+7y-21=0 9)4x-5y=20
n‘%te‘l ll'_-;- 673 M:-g- g'b‘lf

Starter %\
1) Factorise fully: 3T%-5T-2 (31:!- l - 2)
—

2) Change the subject of the formula to b: -£T+T
2b

s b=25T-25
2b 1.
5” xs %Z:S_é(ﬁ%
3) Find the arﬁcbe= ST- 5

ngth of a quarter-circle with radius 10
om- ﬂrc = %’6 XT)"ZO
= 19 Fom

4) Simplify the surdv72

-4



8. Equation of a Straight Line NOTES.notebook May 23, 2017

Finding the Equation using Two Points

| . . nlsjn
Find the gradient, then substitute intoy = mx + c.
e X1 Ye
eg. 1) A(1‘2, 10) and B(g, -2) =+ C
n'l.-:!l

Me xe-% lo ’2’ '2+ C

Today's Learning: =1-lo = C
oday's Learning = 1"—Ti' ) Qél-
To find the equation of a straight line using two ==] _
points. P 1 ~l=c
|0= 2se-14
2) G(-3, 11) and H3, -1)
- ("\ l3= Mmxc+C
= —
-;sz-s "=‘2f‘3 +C
i H= 6+C
5 @ &
5: C
9:- QX + 6
Starter

1) Factorise: m2? - 4m + 4 (M-'l)('l\ -7.)

)
2) Simplify:  3a2b x 10ab" = 302
3) Without a calculator, evaluate 3.14 x5 x 6 Today's Learning:

‘ % ol 0-04 To revise the equation of a straight line.
G , Is 05 o0}
/63
[0 5 o3
¢ I 60 3 .2
4) Multiply out the brackets: (2 - e)(e + 4) 1‘]-2

2e+$-€-be ,
=-2e4%-€
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Rearrange the following then state the gradient and y-

intercept.

1)2y-3x=4

2)3=y+x

3)-y=2+3x =mat+C
4H2x+ 1) =
5)20c-5) +4=y CVW\Z)L

6)3y=7-@2-x)
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Find the equation of the straight line joining:

1) (2, 3) and (5, 6) \3:;61-1

2) (2, 2) and (8, 8) vy
Lyl 3

3) (-2, 4) and (4, 5) Q

4) (3, 0) and (6, 2)3 X*g
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